Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —V Examination Dec’11- Jan’12

Subject code: 351104/2351104 Date: 28/12/2011
Subject Name: Telecommunication Techniques and Applications

Time: 10.30 am — 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered Authentic.
Q.1 (a) Discuss classification of electronic switching systems.
(b) Draw half duplex telephone circuit and explain it.

Q.2
(a) Explain enhanced services associated with the calling subscriber and designed to
reduce dialling errors and the time spent on dialling.
(b) What do you mean by stored program control? Discuss its advantages and explain
redundant centralised control structure.
OR
(b) Compare multi-stage space division networks with single stage space division
networks.
Q.3

(a) Draw and explain the block diagram of a pulse code modulation system for
speech communication.

(b) What is vocoder? Explain any one type of vocoder.

OR
Q.3 (a) Explain the input controlled time division space switch.

(b) Considering a time-space-time switch (three stage combination switch using TST
configuration), explain the establishment of the communication between a calling
subscriber assigned to inlet line 3 at time slot 2 (/3,) and a called subscriber
assigned to outlet line 5 at time slot 4 (Osy).

Q.4

(a) With help of a bar graph, explain typical telephone traffic pattern of an urban area
on a working day.

(b) A subscriber makes four phone calls during an hour. The time durations of these
calls are 12 minutes, 40 seconds, 3 minutes and 1 minute. Find subscriber traffic
in Erlang, Call Minutes (CM), Call Seconds (CS) and Centum Call Seconds
(CCS). Also calculate average holding time per call.

OR
Q.4 (a) Explain the procedures of NOSFER tests for determining the quality of
transmitter and receiver.

(b) Discuss the international numbering plan for telephone network.

Q.5
(a) What is store and forward switching? Explain message switching and its
drawbacks.
(b) Discuss dual ring fiber optic network.

OR

Q.5 (a) Explain the structure of an expert system and compare it with conventional programs.
(b) What is broadband ISDN (BISDN)? Explain interactive BISDN services.

sk sk ok skeosk ok skook skeoskok ok

07
07

07

07

07

07

07

07
07

07

07

07

07

07

07

07
07



YA

UAH 2

UH 3

UAH 3

Ud 4

Ud 4

U 5

U 5

(W)
(&)

(W)

(o)

(&)

(W)

(o)

(W)
(&)

()

(&)

(W)

(o)

(W)
(&)

()
(o)

8Aszlels RARIDL RreMe] aollswl uAl.
ols suAal 2Aslat u(s2 €1 Ul A AU

stA(@ol Al Aol stau(@ol A yatsal MR Slaee sell st
UORSLBORA U Wodors AR UM
AMIRL HA RS WaUH 53t WA 9? Aol slAERAN AU wal SoSee
ARABRS 52l 52U UHHLA.

wall
Ul A [Scloset Aectbuoll Rotet @ WU Bclloset Acadu wd
ARuHel 3.

RAU sLigyladalel HIZ UH 5l HIsyAet ReMall 6clls SlalH ERL
U A AMesal.
Alsls2 9 B7? SleURl As UslRa] clsls AHHLA.

uall
Botye $2les 2l Bcfloset A RAU UHAL.
Ul ¥ slAdL UnslsnRa Y el Algstall ollgl 2lsH AL (I;,)
SLONAA & A SIES UHRSIBRA URAH] olAe Algatloll A 2sH A2
(0s5;) $LOAA 8. 2l8H Y 2BH RAU (TST Ut uRadl il
5I0AA21el RAU)A tulotMl AVl SUADL AGURSIBHUR Wl SIES UGRSIBHR
AR 5132t 3l A AN A UHAL

e wWAmel Heedl A3 (ArcliRell sHSEsell B ad eRaatoll 2(ASt

2U(zs Veol UMl

s UORSIBUR WS SELSall AHAUUGUHL UR Slol 5 . WL AR Hlotoll

AU 12 A2, 40 As6s, 3 Mz wal 1 A2 B. A Erlang, SIA

M2(CM), Sl ASsS(CS) WA AceH SIA ASeS (CCS)otl WsHHL

UHBLB0R 2U35 L. AEGURAA U2 Sleslot uHaA yld slet .
uall

2lotiMeR ual RRaRA{l Jgtaitil otssl sRal HIZ NOSFER 2ee{l ugld

TRILAEN

A8 Aeas HIZall WidRAEL2 oAot3ol Wetlet AHALA.

2R Ual RS RARIdL 9 B? AA RARIIL U Aotl AFLAEL UM,
sy oL slsuR AUSls Azas wAL

waal
AsUUS RIeHo] 52U AHSIA Bl Aol 380t YalH WA qRuLd,
WlsAcS ISDN (BISDN) 9] 87? 8e2usdlcl BISDN ([l uHs1dl.

sk sk ok skosk ok skok keoskok ok

07
07

07

07

07

07

07

07
07

07

07

07

07

07
07

07
07



